RETAN XFX RE#EER ASMEE 03
1. RORZHNBOMREX. (S5, A#14730%, B2 20%, C#dasy)

(1) (2a+b)?—6(2a+b) +9

(2) >4+ ar—2a—4
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2. ROXZHNBEE X, (SH1, A1 30F, B#k2520%, C#4sy)

(1) (z+2y)?—3(z+2y) — 10

(2) 2> —2zy+ax+4y—6
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RETAN XFX RE#EE ASMBE 03 HBEHEH
1. RORZHNBOMREX. (S5, A#14730%, B2 20%, C#dasy)

(1) (2a+b)?—6(2a+b) +9

=A%2-6A+9 —A=x+2
= (A-3)
= {(2a+1b) — 3}°

= (2a + b — 3)2

(2) >4+ ar—2a—4

=ar—2a+2%—4 <HKEXED a lTDWTEH
=a(z—2)+ (z+2)(z — 2)
=(a+z+2)(z—2)

=(x+a+2)(x—2)
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2. ROAXZRESHEX. (SH17, A15308, B2 208, C#45)

(1) (z+2y)?—3(z+2y) — 10

=A?2-3A-10 — A=x+2y
— (A+2)(A—5)
={(z +2y) + 2} {(z + 2y) — 5}

=(x+ 2y + 2)(x + 2y — 5)

(2) 2> —2zy+ax+4y—6

= 2zy+dy+2i+x—6 —KERED y IO THEH
= 2y(x—-2)+ (x+3)(x - 2)
=(2y+z+3)(z—2)

=(z—2y+3)(z—2)
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